
                  Answers  for  BIOL 104 Genetics Problems

1.
Genotypes







One of the woman’s parents:  i i


Woman :               A i


Man :
      A B




	
	A
	B

	A
	A A
	A B

	i
	A i
	B i



Therefore, theoretically  50% of the children will have blood type A.

2.  Yes, a father with blood type A could produce a child of blood type O, if and only if his genotype is                   

      Ai.



	
	B
	i

	A
	A B
	A i

	i
	B i
	i i


3.

Phenotype



Genotype


red-flowered snapdragon
     
    R1 R1


white-flowered snapdragon

    R2 R2


pink-flowered snapdragon

    R1 R2

a.   


	          Pink 
	snapdragon      X     Pink
	snapdragon

	
	        R1 
	       R2

	      R1
	      R1 R1  ( red )
	      R1 R2  ( pink )

	      R2
	      R1 R2  ( pink )
	      R2 R2  (white )



b. 
When 2 pink snapdragons are crossed, they produce one red, two pink, and one 



white snapdragons  (1 : 2 : 1 ).


c. 
This is an example of intermediate inheritance (sometimes called incomplete 

                        dominance).  Since neither allele is recessive, neither is indicated with a lower



case letter.

4.   a.  The blue fur trait is the result of intermediate inheritance (sometimes referred to as incomplete 

           dominance).                            .

Splashed white fur rabbit   X      Black fur rabbit

	
	B1
	B1

	B
	B1 B
	B1 B

	B
	B1 B
	B1 B


          Result:  All offspring have slate blue fur
      b.  Genotypes =
                splashed white fur:   B B        

    black fur:          B1 B1


    slate blue fur:     B1 B


               Slate blue rabbit   X   Slate blue rabbit

	
	B1
	B

	B1
	  B1 B1 (black)
	B1 B (blue)

	B
	B1 B  (blue)
	B B (white)



Result:  When two slate blue rabbits are crossed, they produce one black, two blue, and


              one white-furred offspring (1:2:1).
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